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Christmas Division
Solve the following word problems.

1 Santa has 12.5 lbs of candy canes. If he wants to
divide them equally among 5 of his elves, how
many lbs of candy canes will each elf get?

2 The Christmas tree farm has 37.5 acres of trees. If
they divide the farm into 5 equal parts, how many
acres are in each part?

3 A Christmas carol group has 28.5 minutes to
perform and wants to divide the time equally
among 5 songs. How many minutes will each song
get?

4 A Christmas tree is 15.2 yards high and it is divided
into 4 equal sections for decoration. How high is
each section?

5 The toy factory produced 78.9 pounds of toys. If
they divide the toys equally among 7 workers, how
much weight of toys does each worker get?

6 The Christmas market sold 64.4 pounds of
chestnuts. If they divide the chestnuts equally
among 4 vendors, how many pounds of chestnuts
does each vendor get?

7 Santa's sleigh can carry 89.2 pounds of gifts. If he
wants to distribute the gifts equally among 8
houses, how many pounds of gifts will each house
get?


